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3.4 Apriori BRI 0T

#include <iostream>
#include <string>
#include <vector>
#include <map>
#include <algorithm>

using namespace std;

class Apriori

{
public:

U, b, 15 2

Apriori(size t is =0,unsigned int mv=0)

{

item size =is;

min value =mv;

}
//~Bpriori() {};
void getItem() ;

map<vector<string>,unsigned int>find freitem(); //3RZ 5 i Z I
/WA k-1 FAEI, B k R E I

map <vector<string>,unsigned int >apri gen(unsigned int K, map<vector

<string>,unsigned int>K item);

/ /7 3 B T 4

void showAprioriItem (unsigned int K, map<vector<string>, unsigned int >

showmap) ;

private:
map<int, vector<string>>item; /A5 1% B AT B I bR B 2 45 e HL T
map<vector<string>,unsigned int>K item; / /FE A A B I
size t item size; //H 5 HH
unsigned int min value; / /3N A
}i
void Apriori::getItem() V20 Dak W e NN 2 S

{

int ci=item size;

for (int i=0;i<ci;i++)

{

string str;

vector<string>temp;
cout<<"iHFHI A "<<i+1<< "N LI LE (123 end) : ";
while (cin>>str && str !="123")




temp.push back(str);

}
sort (temp.begin(), temp.end());

pair<map<int, vector<string>>::iterator, bool>ret =item.insert (make
_pair(i+l, temp));
if (!ret.second)
{
_ l,'

cout<< "fiH A ML R O AFFE I BB H A | "<<endl;

}
cout<< M—mmmmm o —— BATERIMT : ———————— - "<<endl;

map<vector<string>,unsigned int>Apriori::find freitem()
{

unsigned int i=1;

bool isEmpty=false;

map<int, vector<string>>::iterator mit;

for (mit=item.begin();mit!=item.end () ;mit++)

{

vector<string>vec=mit->second;

if(vec.size() !'=0)
break;
}
if (mit==item.end()) /RS E NS

{
isEmpty=true;
cout<< " 555 N VBT AL AT e "<<endl;
map<vector<string>,unsigned int>empty;
return empty;

}

while (1)

{

map<vector<string>,unsigned int>K itemTemp=K item;
K item =apri gen(i++,K item);

if (K_itemTemp ==K item)
{
i=UINT MAX;
break;
}
//FIW RS W E AT — IR
map<vector<string>,unsigned int>pre K item=K item;
size t Kitemsize=K item.size();
/IR L IZ M B 56 R O B4R, NSRBI K O B AR K+ 1 R
/1RE




LB

if (Kitemsize!=1 && 1i!=1)
{
vector<map<vector<string>,unsigned int>::iterator >eraseVecMit;
map<vector<string>,unsigned int>::iterator pre K item itl=pre K
_item.begin(), pre K item it2;
while (pre K item itl!=pre K item.end())
{
map<vector<string>,unsigned int>::iterator mit =pre K item itl;
bool isExist=true;
vector<string>vecl;
vecl=pre K item itl->first;
vector<string>vecll(vecl.begin(),vecl.end()-1);
while (mit!=pre K item.end())
{
vector<string>vec2;
vec2=mit->first;
vector<string>vec22(vec2.begin(),vec2.end()-1);
if (vecll==vec22)
break;
++mit;
}
if (mit==pre K item.end())
isExist=false;
if(!isExist && pre K item itl!=pre K item.end())
eraseVecMit.push back(pre K item itl);//I&H K BN E I h 1%
/ /M
++pre K item itl;
}
size t eraseSetSize=eraseVecMit.size();
if (eraseSetSize==Kitemsize)
break;
else
{
vector < map < vector < string>, unsigned int >:: iterator >::
iterator currentErs=eraseVecMit.begin() ;
while (currentErs!=eraseVecMit.end()) / /M A N iZ MG H 5 R 9
/ /BT

map<vector<string>,unsigned int>::iterator eraseMit=
* currentErs;

K item.erase(eraseMit);

++currentErs;

}
else
if (Kitemsize ==1)

break;




cout<<endl;
showAprioriltem(i,K item);

return K_item;

map<vector< string>, unsigned int > Apriori:: apri gen (unsigned int K, map<

vector<string>,unsigned int>K item)

{
if (1==K) / /RAFIEIEE C1
{
size t cl=item size;
map<int, vector<string>>::iterator mapit=item.begin();
vector<string>vec;
map<string,unsigned int>cl itemtemp;

/ /¥ SR 55 TR BT A B B IUGE T ok

while (mapit!=item.end())
{

vector<string>temp=mapit->second;
vector<string>::iterator vecit=temp.begin();

while (vecit!=temp.end())

{

pair<map<string,unsigned int>::iterator, bool>ret=cl
itemtemp.insert (make pair(* vecit++, 1));
if (!ret.second)

{
++ret.first->second;

}

++mapit;
}
map<string,unsigned int>::iterator item it=cl itemtemp.begin();

map<vector<string>,unsigned int>cl item;
while (item it!=cl itemtemp.end()) //MIXE% 1 S ETi%k

{
vector<string>temp;
if (item it->second >=min value)
{
temp.push back(item it->first);
cl item.insert (make pair(temp, item it->second));

}
++item it;
}
return cl item;
}
else
{
cout<<endl;
showAprioriltem(K-1,K item);



map<vector<string>,unsigned int>::iterator ck item itl=K item

ck item it2;
map<vector<string>,unsigned int>ck_item;
while (ck item itl!=K item.end())
{
ck item it2=ck item itl;
++ck item it2;

LB

.begin(),

map<vector<string>,unsigned int>::iterator mit=ck item it2;
//BCYEIES K SR B S T 5S K SO B IR G, R B EA &
//BRE S PRSI ET K- 1 B8 24 1R, RESE k BURE, RFEWAIRE

//HE IR R+ 1 4 e A 2 5

while(mit!=K item.end())

{
vector<string>vec,vecl,vec?2;
vecl=ck item itl->first;
vec2=mit->first;

vector<string>::iterator vitl,vit2;

vitl=vecl.begin();
vit2=vec2.begin();

while (vitl<vecl.end() && vit2<vec2.end())

{
string strl =*vitl;
string str2 = * vit2;
++vitl;
++vit2;
if (K==2 || strl==str2)
{

if(vitl!=vecl.end() && vit2!=vec2.end())

{
vec.push back(strl);

}
else
break;

}

if(vitl==vecl.end() && vit2==vec2.end())

{

--vitl;

—vit2;

string strl = % vitl;

string str2 = x vit2;

if (strl>str2)

{
vec.push back(str2);
vec.push back(strl);

}

else




vec.push back(strl);
vec.push back(str2);

}

map<int, vector<string>>::iterator base item=item.begin();

unsigned int Acount=0;
while (base item!=item.end() ) / /BT K+ 1 i i T 7R JR = 55 4
/ /5 B R AL

unsigned int count=0, mincount=UINT MAX;
vector<string>vv=base item->second;
vector<string>::iterator vecit, bvit;
for (vecit=vec.begin();vecit <vec.end();vecit++)
{
string t= * vecit;
count=0;
for (bvit=vv.begin();bvit <vv.end();bvit++)
{
if (t==* bvit)
count++;
}
mincount= (count <mincount? count: mincount) ;
}
if (mincount>=1 && mincount!=UINT MAX)
Acount+=mincount;
++base item;
}
if (Acount >=min value && Acount!=0)

{

sort (vec.begin(),vec.end());

/ /R Rt 1 R AR I AR I, ARSI

pair<map<vector<string>,unsigned int>::iterator,
bool>ret=ck item.insert (make pair(vec,Acount));

if (!ret.second)

{

ret.first->second +=Acount;

}
++mit;
}
++ck item itl;
}
if (ck_item.empty()) //ZH K+1 GBI N2, WHRAZR, &RE L%
22 SUE S
return K item;
else

return ck item;
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}
void Apriori::showAprioriItem(unsigned int K, map<vector<string>,unsigned int>
showmap)

map<vector<string>,unsigned int>::iterator showit=showmap.begin() ;
if(K! =UINT MAX)
cout<<endl<<"&f "<<K<<" FHHEILE . "<<endl;
else
cout<< "E AW B4 . "<<endl;
cout<<"Ii AEr<<" A\t "<<"Jfi Fr<<endl;
while (showit!=showmap.end())
{
vector<string>vec=showit->first;
vector<string>::iterator vecit=vec.begin();
cout<<"{ ";
while (vecit!=vec.end())
{
cout<< * vecit<<" ";
++vecit;
}
cout<<"}"<<" \t ";
cout<<showit->second<<endl;
++showit;

unsigned int parseNumber (const char * str) / /% FH P B A B B0 R AT W R A A
{
if (str==NULL)
return 0;
else
{
unsigned int num=0;
size t len=strlen(str);
for(size t i=0;i<len;i++)
{
num * =10;
if(str[i]>='0" && str[i]<="'9")
num +=str[i] -'0';
elee
return 0O;
}

return num;

void main ()
{

//Bpriori a;
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unsigned int itemsize=0;

unsigned int min;

do
{

cout<< g AF 5. ";
char * str=new char;
cin>>str;
itemsize=parseNumber (str);
if (itemsize==0)
{
cout<< "iFH AKRT 0 B IEEEE ! "<<endl;
}

} while (itemsize==0);

do
{

cout<< "I iy A fe /N E -
char * str=new char;
cin>>str;
min=parseNumber (str) ;
if (min==0)
{
cout<<"iFHi AR T 0 B IER %1 "<<endl;
}

} while (min==0) ;

Apriori a(itemsize,min);

a.getItem();

map<vector<string>,unsigned int>AprioriMap=a.find freitem();

//a.showAprioriItem(UINT MAX,AprioriMap) ;

system("pause") ;
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SIHT AZ AR BORTEAR G R E L R A EEMN S E M.

Apriori BETZ 0 TR A B, BT ST g AR S dr v B RIS AR Pt oK
HE S A il 22 ) A A A O R N B AT Z (B A8 52 e o i ek BCE 2 4 T 3 N AT DU v H AR
B R NIBCEAT T B B VR R B T3 #E ) 3 3l i H At — 2E Rk 9 15 2 T B, A
T AR R b s /0 45 053, i AL

Apriori 535 N T W 45242 4 U0 I AR R I LA L v O R | T S AL &R 4 b R
WeSE T TS Bk T IR ER A SR X S TR ER Y B 0 2028 T M Re MR B 2% L R X
et w5 42 R 0 A AR B D . e i i A A > AR AT D) & B I 48 P i) S AT o
R, 0 25 AR A TN R G2 FT DAPRGE R SR P i AT S AR X R A PR A Mo L R T
LT O I0R JL ) e A AR A TN 2R 8 1 A T 12 R

Apriori FVE N T @ A B b, B SRS EE R AR BRI S TR B 2 A A B 1) B
Iy A X A ke A B A 4 R T LAY B A SC AR ) e ke R R, AN A RS
TR OCHR A /Y Apriori 3595 W FH 238 R B 4K & v, 9 LA X 22 8t Apriori 248 5515 47
TE AN JE HEAT BCE & S g 55 K00 PP WA Ol — A ZR A e T — o J2 3 48 A0 S RE R 3 25
Ho o3 T N A FEAT A7 R T 1) R 5 7 IE B, SR AR . SR 4 SR AR X ik
JG By Apriori FIETEIBATRCR BA TAR KA TH, 42 88 Hh % 0 00t ] DA A% bl B o A
PSR T R B IR B A TAE

Apriori 8 )12 N T 308 15 G, #8319 (B 55 2 T i A% s {5 i g b
AT R R B 55 . FfE 7l B S T3 Ok R 22 0 1 (R 55 3K S 5

5]




LB

ENH K e HSk BB ] Z2 0040 B A A AL R B T A B AR AATRAE RO R A BE I
il B, 7 OC IR I KA #2548 v iz BT Y Apriori SEEREAR 2 w0 . 0 ARAT R
HLAR 12 8 R IE R B A (L 55 Web Bodla @ %87 & L Xk (1 8 3l (.l 55 T T 1Y) 34 25 %
PEREAT T AR SC A FZ 0 Ak B AT AR AT T 5 T R P A7 9 R A1 A0 5 SR 10 18] 422 S5z ke 1 47 30 25 1Y
AR R X 805 B IR T2 8 Ry A 5532 75 R Bl 55 B Bt R R Dk S S A% O T B A
T EENSENE.

3.6 &k

S EE TR AN M A 1T S IR U A ) e AR R L T 0 ) S 1B R D) 47 A Rk ——
Apriori 53 9 JBE L LU S B ST AR (9 i AR BEAT 1A L O T SE I BEAT T UL TR ik
SrHT T Apriori 535 B RE A5 RN R AT AR B BRI L A5 B AR S B B IUAR Y o B A 2
22U 55 HOHE IR L A3 5 A DR ) A i AR L 3K R 2 0 Bk B 28R AR AR R Y 5
Wi o I ELAE A ST A AR RS BT B [A) R 3 B Jm A 4R T Apriori A AE
T 10 26 22 4 | T A TR RS, 2l 3l 1% 45 ST 1o

> Hia
S E A

1. i TR S I ) )

2. 53R Apriori JCIE RN B8 5500

3. W 3-3 TR IEIEIES 5 FY . X min_sup=60% ,min_conf=80%,
R33 HIEE

TID T 3£ B 7 S TID T 3% 19 7

1100 {M,O,N,K,E,Y} 1400 {M.,U,C,K,Y}

1200 {D,O,N,K,E, Y} 1500 {C,0,0.,K,1,E}
1300 {M,A,K,E}

(D) 43348 A1 Apriori Al FP 34K 5005 40 3 Ir G 40 B4R . Lo 35 79 428 4 2o 72 10
(2) FNZE T A 5T I Y0R8 U D T5C f) 5 O 36 R D) (45 i S B8 s VB AR BE o, Horr,
X RERE P& item, RARTIAYZE R (A1 AB %) .
VY x € transaction, buys(X ,item;) A buys(X ,item,;)=buys(X ,item;) [s,c]
4. 3k 3-4 /R 9 G &R K People & A7 AR %A 3 1@ 1 (Age, Married,
NumCars) ., RN 482 ) min_sup=60% ,min_conf=280% ,i{IZIH T 3-4 P A% =
DCHR AL




HiRZEEEFRES I (F 3R - BIRAR)

& 3-4 XK F K People

RecordID Age Married NumCars RecordID Age Married NumCars
100 23 No 0 400 34 Yes 2
200 25 Yes 1 500 38 Yes 2
300 29 No 1




